Vs=-5V
R=260Q
AN

Dipeat

D

-

V5=-2V

R=200Q

I Ip=10.0mA
FB: Vp=

Vs=-10V

R=230Q

I Ip=43.478mA
FB: Vp

0

=0

Vs=-5V

R=260Q

Ip=19.231mA

FB Vp=

Vs=-5V
R=440Q
Dipeat

Vs=-5V

R=440Q

+
Vp=-5V

“RB: Ip=

I Ip=500.0mA
FB: Vp=

0

0



Ve=-8V Ve=-8V
R=360Q R=360Q
D + RB: Ip=0
IDEAL 3 VD=—17V
— V=9V — V=9V
(a)
Ve=-5V Ve=-5V
R=280Q R=280Q
5 FB: V=0
IDEAL I5=17.857mA

— Vp=-10V —_Vp=-10V
I 1

(c)

Ves=-1V Ves=-1V
R=290Q R=290Q

~ RB: Ip=0

ZSDIDEAL 4+ Vp=-3V
— Vp=-4V _— Vg=-4V

I 1

V5—-7V V5=-7V
R=40Q R=40Q
FB: V=0
D
£\ Diea IID=275.OmA
— V=4V _— Vz=4V
(b)
Ve=-2V Ve=-2V
R=10Q R=10Q
FB: V=0
D
£\ Diea IID=1200.0mA

— V=10V _—_V=10V

T T

(d)
Vs=-10V Vs=-10V
R=20Q R=20Q

DipeaL + RB: Ip=0

_T__ Vp=-4V

VB=-6V

i: Vg=-6V I

(f)



Vs1=-10V

R1=23OQ
R3=160Q

Vi AN

R,=330Q0 M.D:

case4: RB, RB: V,=-10.0
Dl:RB, ID1=0V (Open), VD1=-].0.0V <=0, True

SZ D N w4 V52=3V D3:RB, Ip;=0V (open), Vp,=-13.0V <=0, True
1




V51=3V

R1=290Q
R3=250Q

Vi AN

R,=110Q Z\D:

D w V5=V
1

case4: RB, RB: V;=3.0
D1:RB, ID1=0V (Open), VD1=-3.0V <=0, True
D,:RB, Ip>=0V (open), Vpr,=-12.0V <=0, True



V51=2V

casel: FB, FB: V,=2.97
D1:FB, Vp1=0V (short), Ip1=6.061mA >0, True
R1=210Q D,:FB, Vp,=0V (short), Ip;=10.684mA >0, True

R3=190Q

Vi AN

R,=490Q Z\D:

D V5275V
1




V51=5V

R1=1GOQ
R3=260Q

Vi AN

R,=120Q Z\D:

D v Vs2=8V
1

case4: RB, RB: V;=5.0
D1:RB, ID1=0V (Open), VD1=-5.0V <=0, True
D,:RB, Ip>=0V (open), Vpr,=-13.0V <=0, True



	hw01_p1_solutions
	hw01_p2_solutions
	HW01_p3a_solution
	HW01_p3b_solution
	HW01_p3c_solution
	HW01_p3d_solution

